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Draw labelled phase diagram of magnesium-zinc system and explain
melting curve of magnesium.

OR
Tive faavr o fofRag | swa Wmei & avis @iy |
Write Nernst's distribution law. Describe its limitations.
ol PIfg |

Describe the main postulates of Debye-Huckel theory for strong
electrolytes.

OR
s o B B v T W fafy &1 avfs Hifdig |
Describe the moving boundary method to determine transport number.
DT goldgls BT SdSie fava oI & @ forg e FHiawor
GIH DI |

Derive Nernst equation to determine electrode potential of calomel
electrode.

OR

TR faerad @1 B €7 99 fAeas @ pH @ 1A @ fow gvewwd
THIHYOT BT i HIT |

What is buffer solution? Describe Henderson equation for calculation of
pH of buffer solution.
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Section'A', containing 10 very short-answer-type questions, is compulsory.

Section 'B' consists of short answer type questions and Section 'C' consists of
long answer type questions. Section'A' has to be solved first.

H3 1.

"I 2.

"3 3.

U3 4.

U3 5.

Section - 'A'

il aifdergad weAt @& SR U A1 & aradt F ) (Answer
the following very short-answer-type questions in one or two
sentences.) (1x9=09)
ISTRIRAT &1 $Plg forfay |

Write unit of Heat Capacity.

R SHT P GRATT I |

Define heat of formation.

el Sopfia wpe & fog ASa= +AS firma &1 w9 @& gr?
What will be the value of A S wTa VRS Jting forany reversible process?
Ife R &1 a9 -273°C 8 O ST 399 I q&rar Fq1 BnfY?
What is the efficiency of carnot engine if temperature of sink is - 273°C?
T °HCH WA NG H &FAhel &l [l DI Pifc BT A a1 87
What is the degree of freedom of areas in phase diagram of two

components?
P P.T.O.



H3T 6.

U3 7.

A= . 8.

3 9.

(2) Code No. : B-239(B)
Ricar—<is a1 # oM wif<as fawg &1 am & 82

What is the temperature of eutectic point in silver-lead system?

RIS TR X iiikunshhasdedessionio = faftre =rerear
Observed conductance x ..........ccoceruees = specific conductance.
Il Daniel oell..ieviisisiasion reaction takes place on copper electrode.

e qHice @ Sieid e @1 wafa aar enfi?

What is the nature of aqueous solution of ammonium acetate?

Section - 'B'

fifea g STRG oeEl & STR 150200 ¥eE 9T # & Answer the
following short-answer-type questions with word limit 150-200(2x5=10)
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TR St W wferg fewofy forRay |

Write a short note on bond energy.
OR

g PIIT/Prove : AH =AU +An RT
Tl @R Bad g, g aifog |

Entropy is a state function, prove it.
OR

Udh ST ol 400K T 300K & € Hrf el 81 1000) H1d yIwd
B v @Id A fhd I off Sef?

A heat engine works between 400K and 300K. How much heat will be
taken from source to obtain 1000J work?

T ® P W I P Y9G DI GHIEY |

Explain the effect of pressure on boiling point of water.

OR
watras fawg @ Gy |
Explain congruent point.
3Redres @ dqa 199 o GHsy |

Explain Ostwald's dilution law.
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N/ o TR ot @ Gedieht Areienr 7.28 AIST TRIT I AT W
i ATIhl 364 AT B | 3 Bl frer Reriss s $iford |

Equivalent conductance of %O acetic acid is 7.28 mhos and its

equivalent conductance at infinite dilution is 364 mhos. Calculate
dissociation constant of the acid.

9T 5. BISSISA Soidels &l AMifed I a8y |

Draw labelled diagram of hydrogen electrode.
OR

TETRYT & i aeiyer fygra &1 gofq Sifemg |

Describe oxygen absorption theory of corrosion.
Section - 'C'

fA=ifea S ST wwt © SR 300350 T AEm A

(Answer the following long-answer-type questions with
word limit 300-350) (3x5=15)

W 1. 3est T B o S o [onid @ T BT |

Calculate Joule Thomson coefficient for ideal gas.
OR

ReR g9 9 25°C A9 4R 9=5iIgd 3T &Y T8+ ST -780.4 k cal/mol
2| Rer amuas dem =it 99 W g8\ S B U PR |
Heat of combustion of benzoic acid at 25°C temperature and constant

pressure is -780.4 k cal/mol . Calculate its heat of combustion at constant
volume and the same temperature.

weq 2. Rig T/ Prove : AS=C, [ni_ Rlni
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